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This question paper contains two parts and you have to answer all questions in both the
parts.
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Part ‘A’ — Mathematical Knowledge Test has three sections containing 30 questions. Q.
Nos. 1 to 10 carry 2 marks each, 11 to 20 carry 3 marks each and 21 to 30 carry 5 marks
each.
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Part ‘B’ — Language Ability Test contains 9 questions. Q.No. 1 and 2 carry 15 marks each
and remaining question carry 10 marks each. In this part you can write your answers in any
one of the chosen language only.
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Write your answer in Blue/Black ink only. Do not use pencil.
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All Rough Work is to be done at space provided.
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There are total 19 pages in the question paper.
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"vs ‘Y’ : MM /PART ‘A’: MATHEMATICS

(}13133 / Max. Marks : 100)

gUsS :I/SECTION: |

(7% 99T QY 3B 5 B)

(Each question carries two marks)

Q1. < WERH B ANT T, A TgH WEAT 41628 3R T HEAT gl TEIT 1235
3fee 7 |

Find the sum of two numbers if one number is 41628 and the other number is 1235 greater than the
first number.

Q.2. 631997, 514245, 51437, 631460 Bl RIS &H H forer |

Arrange the numbers in ascending order —

631997, 514245, 51437, 631460.

Q.3. ve @t o qom 8 A 2| 39 T B 4 WA It A d@fer v ¥ | wRAS @t B AFAB TG I |

The side of a square is 8m. The same square is divided into four equal squares. Find the area of the
square.

Q4. 21630R 90 B ST @S for |

Find prime factors of 216 and 90.



Q.5. n% =+ 6% BT AT I DRI |

Find the value of ll% o 6L.
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Q.6. 95T 10% ST BT |
Find 10% of 95.

Q7. TP XS fieeh & @ 9 aoraR 15 e R Fo@x el &9 gaw 11 g9aw 30 fade w®
SRIY] Ugd STl & o YS! | fo fha W forr |

A train starts from Delhi at 9.15 p.m and reaches Jammu Tawi next day at 11.30 am. Find the total
time taken by the train.

Q8. AN & 25 IR BT YR 625 AU &1 35 GRT BT ¥R 9 B |

The weight of 25 bags of sugar is 625 kg. Find the weight of 35 bags of the sugar.



Q9 75 90 &R 125 &7 SHOWOUO I B |

Find out LCM-of 75, 90 and 125.

Q.10. UF ga & URAM Ta Hifeg, afe amaag & T=E 60 Qo0 3R ARSTE 30 HOHO & |

< Find the perimeter of rectangle of length 60 cm and breadth 30 cm.

WUS — (| SECTION — II
(IS 99 09 3T BT 2)

(Each question carries Three marks)

o o]
Simplify 16—[4+2{6—[80f%)}].
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Q.12. U MIATBR A & oTHTs 40 Aex 3R 9IS 30 Mex 21 Ae@ @ 99 @ 2 Aex a1

e TS 3R AeE @ THRR 8| 9<% &7 &% Sd B |

A rectangular lawn is 40m by 30m. It has two roads of 2m wide running in the middle one parallel to
the length and the other parallel to the breadth. Find the area of the roads.

Q.13. TP 50 HicR T, 40 Hex HIS T TF Hex TR TS B W R el fedt &1 s s

Q.14.

Q.15.

B |

A pit 50 meter long, 40 meter wide and 1 meter deep is dug. Find the volume of earth dug out from
the pit.

TS gl B AT 14 9900 8| g @1 IRAY 3R &arber S |

Find the Area and circumference of a circle with diameter 14 cm.

TP PIVT BT ARD BT S AT 2| DT 3R ARRS P07 B A1Y ST B | -

An angle is twice of its complement. Find the measures of the angle and its complement.



Q.16. T W= HT 0|00 1080 & 3R HOWOWO 18 ¥ | IMX UH WEAT 216 ¢ A T [T S B |

The LCM of two numbers is 1080 and their HCF is 18. One of the numbers is 216, find the other
number.

Q.17. e 5t &1d @Y 15 R 4 ware axd 2| S B B FiEer 12 B § wa s @ | Q4 Poey 9w F & fhad

fet & gra #x ol |

Asha can finish a work in 15 days . The same work is finished by Nirmala in 12 days . In how many
days both of them will finish the work while working together?

Q.18. T F3E ¥ 90 “UY U H B X ¥ 6 BRI WA | IH TS FH W T AH W 10

Q.19.

w1 @d frar A § Su Wl BREl B 795 ©UY ¥ 99 A1) @ Ar g w| B

A carpenter bought 6 chairs for Rs 90 each. He spent Rs 10 on each chair for painting. He then
sold all the six chairs for Rs. 795. Find his profit or loss.
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Write true or false for the following statements.

(a) A cylinder has two curved surfaces and one flat base.
(b) A cone has two curved surfaces and one flat base.

(c) A sphere has no flat faces.

Q20. f&7 T R § ol @ T 576 i @ & ageR Rer ™ 8| 5 auR
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In the following pictograph the number of students liking various sports have been represented
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000066680

@Scale = 5 students

Kabbadi

Khokho



With the help of this answer the following questions

(a) Which is the most favourite game of the students?
(b) How many students like Cricket?

(c) What is the difference between the number of students liking Kho-kho and Kabbadi.

EUsS — Il SECTION —lil

(IS I U 3P BT )
(Each question carries five marks)

Q.21. wf%a%150#@95%%%&@@%#25013?%180@6%%%%@%31@?5
gl

Sahil scored 95 marks out of 150 and Ankit scored 180 marks out of 250. Whose score is higher?

Q.22. aﬁ?#mﬁuﬁrmnﬁaﬁaﬁaﬁﬁomomm| 3 |Ie @ a1 99 W0 4000 3R
TP Sl dicrg | TS B od ST B |

Jatin borrowed Rs 4500 at 12 paise for every rupee per annum. After 3 years he returned Rs 4000
and a wrist watch. Find the cost of the wrist watch.

Q.23. 3 HoHlo & &1 va ga W, 3k e el v
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Draw a circle with radius 3 cm and mark.
(a) Its centre O (b) Diameter AB
(c) An Arc CD (e) a chord PQ.

Q24. & J AN ¥ & U ol B 1500 T | I AN @ B IR F U 45 F| IR G B I TR 600
g T 31 T 9 B R s B

A,B and C have a total of Rs 1500. The ratio of the money between A and B is 4'5. If C has Rs. 600,
calculate the shares of A and B.

Q.25 6 3P D WA T AT TAM T 24, 15 3R 36 A G Pl 2

What is the greatest 6 digit number which is exactly divisible by 24, 15 and 367

Q.26. U Al U ATeR W0 75 & 99l & a1 o9 4 yferd @ =1y &t 21 20 uferg oy are e
3 forg 99 fhem wud § =R I 2nft |

By selling a bed sheet for Rs. 75, a man suffers 4% loss. What amount should he sell it so as to
gain 20% profit?
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